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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Social Control ? Why is social control 

necessary in Society ?  
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lkekftd fu;U=.k D;k gS \ lekt eas lkekftd fu;U=.k 

dh D;ksa vko’;drk gS \ 

2. Discuss the role of demographic factors of Social 

Change.   

lkekftd ifjorZu esa tukafddh; dkjdksa dh Hkwfedk dh 

foospuk dhft,A  

3. Describe the impact of cultural factors on Social 

Change.  

lkekftd ifjorZu ij lkaLd`frd dkjdksa ds izHkko dh 

foospuk dhft,A  

4. What do you mean by Social Progress ? Differentiate it 

with social evolution.   

lkekftd izxfr ls vki D;k le>rs gSa \ lkekftd 

mn~fodkl ls bldk vUrj Li”V dhft,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four of the following. 

fuEufyf[kr esa ls fdUgha pkj dh la{ksi eas ppkZ dhft,A 

1. Cyclical pattern of Social Change.  

lkekftd ifjorZu dk pØh; izfrekuA  
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2. Characteristics of family.  

ifjokj dh fo’ks”krk,¡A  

3. Meaning of Social Change.  

lkekftd ifjorZu dk vFkZA  

4. Effects of modernization on Indian society.  

Hkkjrh; lekt ij vk/kqfudhdj.k ds izHkkoA  

5. Concept of Westernization.  

if’pehdj.k dh vo/kkj.kkA  

6. Characteristics of Urbanization.  

uxjhdj.k dh fo’ks”krk,¡A  

7. Major factors of Social Revolution.  

lkekftd ØkfUr ds izeq[k dkjdA  

8. Difference between Social Change and Cultural 

Change.  

lkekftd ifjorZu rFkk lkaLd`frd ifjorZu eas vUrjA  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following. 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k,A 

1. M. S. A. Rao has propounded by the cyclical theory of 

change.   (True/False) 
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,e- ,l- ,- jko us ifjorZu dk pØh; fl)kUr izfrikfnr 

fd;k gSA   ¼lR;@vlR;½ 

2. The concept of ‗technological lag‘ is given by Marx.  

     (True/False) 

^izkS|ksfxdh foyEcUkk* dh vo/kkj.kk ekDlZ us nh gSA  

    ¼lR;@vlR;½ 

3. Evolution of human society was given by Morgan.  

     (True/False) 

ekuo lekt dk mn~fodkl ekWxZu dk gSA ¼lR;@vlR;½ 

4. Social change is universal phenomena. (True/False) 

lkekftd ifjorZu lkoZHkkSfed ?kVuk gSA ¼lR;@vlR;½ 

5. The scope of development is wider than progress.  

     (True/False) 

fodkl dk {ks= izxfr dh vis{kk vf/kd O;kid gksrk gSA  

    ¼lR;@vlR;½ 

Choose the correct alternative. 

lgh fodYi pqfu,A 

6. The authored of the book ‗Introductory Sociology‘ was :  

(a) Srinivas  

(b) Sutherland  

(c) MacIver & Page  

(d) Spencer  
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^bUVªksMDVjh lksf’k;ksykWth* iqLrd dk ys[kd gS % 

¼v½ Jhfuokl 

¼c½ lnjyS.M 

¼l½ eSdkboj ,.M ist 

¼n½ LisUlj 

7. The writer of the book ‗Modernization of Indian 

Tradition‘ is :  

(a) S. C. Dube  

(b) M. N. Srinivas  

(c) Yogendra Singh  

(d) D. N. Majumdar  

^ekWMukZbts’ku vkWQ bafM;u VªsfM’ku* iqLrd ds ys[kd gSa % 

¼v½ ,l- lh- nqcs 

¼c½ ,e- ,u- Jhfuokl 

¼l½ ;ksxsUnz flag 

¼n½ Mh- ,u- etwenkj 

8. According to Sorokin culture is of :  

(a) Two types  

(b) Three types 

(c)  Four types   

(d) None of the above  
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lksjksfdu ds vuqlkj laLd`fr ds gksrs gSa % 

¼v½ nks izdkj  

¼c½ rhu izdkj  

¼l½ pkj izdkj  

¼n½ mi;qZDr eas ls dksbZ ugha  

9. Who says, ―Urbanization is the process of transforming 

rural into urban areas‖ ?   

(a) Bergell  

(b) Bogardus  

(c) Burges  

(d) Burmen  

;g fdlus dgk] ßxzkeh.k {ks=ksa dks uxjh; {ks=ksa esa cnyus dh 

izfØ;k dk uke uxjhdj.k gSÞ \ 

¼v½ cxZsy 

¼c½ cksxkMZl 

¼l½ cxZsl 

¼n½ ceZu 

10. The book ―Social Change‖ is written by :  

(a) Lapier  

(b) Mumford  

(c) MacIver and Page   

(d) Spicer  
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^lks’ky psat* iqLrd ds ys[kd dkSu gSa \ 

¼v½ ysfi;j 

¼c½ eeQksMZ  

¼l½ eSdkboj ,oa ist  

¼n½ Likblj 
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